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Yarn Manuf.-II

Full Marks : 80

Pass Marks : 26

Answer all 20 questions from Group A, each question 

carries 1 marks.

Answer all Five questions from Group B, each question 

carries 4  marks.

Answer all Five questions from Group C, each question 

carries 8  marks.

All parts of a question must be answered at one place in

sequence, otherwise they may not be evaluated.

The figure in right hand margin indicate marks.
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OR

(a) Explain different types of waste produced in

      spinning section.

(b) Explain the process that are involved in soft

      waste spinning.

***
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1. Choose the most suitable answer from the following

options :1 x 20 = 20

(ii)

(i)

(i)        The roving comes from front roller in depend

upon:

(a) Size of roller

(b) Diameter of roller

(c) Circumference of roller

(d) Surface speed of roller

Tensors hold the approns form:

(a) Inside

(b) Outside

(c) Triangular side

(d) Parallel side
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(a) Explain American system and four roller system

      of threading.

(b) Explain fancy yarn.

method of texturising.

detail.

OR

10.

8

11.

8
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(iii)

(iii)

(iv)

(ii)

The newly designed drafting systems, use

different method for:

(a) Bobbin build

(b) Bobbin control

(c) Fibre control

(d) Fibre diameter control

The  exact amount of draft depends upon the:

(a)  Numbers to be drafted

(b)  Numbers to be spun

(c)  Number to be twirled 

(d)  Number to be employed
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(a) Explain with neat sketch any type of top arm 

     drafting system employed in ring frame.

(b) Explain the merits and demerits of spring 

      loading system in ring frame.

      ring frame.

(b) If the yarn count in 30's and it is made from the

      sliver 45 grslyd.  What is the draft employed.

9.

OR

8
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(v)

(v)

(vi)

(iv)

The current tensor to be used depends upon
the:
(a) Hank of roving
(b) Size of roving
(c) Diameter of roving
(d) Fineness of roving

The yarn has the tendency of being wound 
at a:
(a) Forty five degree angles
(b) Sixty degree angles 
(c) Right angles
(d) One hundred degree angles

OT5038
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Older type of spindles run is:

(a) A helical gear

(b) An improved gear

(c) Seperate oiling arrangment

(d) An oil bath

Suspended type of separators control the

full length of :

(a) Bobbin

(b) Balloon

(c) Varying balloon

(d) Muli cops

(vii)

(vii)

(viii)

(vi)
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of winding.

the action of any one of them with suitable sketch. 

OR

OR

8.

8



6 28501

The index wheel is operated by turning the 

hand wheel in:

(a) Same direction

(b) Opposite direction

(c) Clock wise direction

(d) Anti clock wise direction

A pre comber draft helps in:

(a) Doubling the fibre

(b) Mixing the fibre

(c) Straightening the fibres

(d) Parallelisation the fibre 

(ix)

(ix)

(x)

(viii)
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OR

Explain limitaitons of ring spinning.

Answer all Five Questions. 
8 x 5  = 40

Explain the developments incorporated in the lastest

combers for:

(a) Reduction in piecing in irregularity.

(b) Reduction head to head moil variation.

7.

8
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The proportions of minor hooked fibers are:

(a) 8%

(b) 10%

(c) 12%

(d) 15%

For coarse combing, the wire gauge is :

(a) 29

(b) 31.72

(c) 31.80

(d) 31.90

(xi)

(xi)

(xii)

(x)
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Explain high speed comber.

OR

5.

4

OR

6.

4
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Stretches yarns are characterized by their:

(a) Good retention

(b)  Good durability

(c) Good stability

(d) Good recovery

Texturising results in:

(a) Harden yarns

(b) Soften yarns

(c) Bulk yarns

(d) Washable yarns

(xiii)

(xiii)

(xiv)

(xii)
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4.
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Explain the mechanism of twist insertion in a speed

frame.

Explain different types of draft in ring frame.

4                     

3.

OR

4                     
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The ring doubling frame is superseded:

(a) Dry doubler

(b) Wet doubler

(c) Flyer doubler

(d) Flange doubler

By the help of doubling process, it is to 

produce:

(a) Doubled yarns

(b) Stronger yarns

(c) Finer yarns

(d) Fancy yarns

(xv)

(xv)

(xvi)

(xiv)

OT50381228501

Answer all Five Questions. 

2.

4 x 5 = 20

Explain recent developments in speed frame.

(xx)

OT5038
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The ring frame waste is known as:

(a) Pneumetic  waste

(b) Bonda waste

(c) Hard waste

(d) Soft waste

At ring frame, what type of waste is obtained?

(a) Soft waste

(b) Hard waste

(c)  Only hard waste

(d) Mixture of hard and soft waste

(xvii)

(xvii)

(xviii)

(xvi)
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The fundamental principle of open end 
spinning is dividings the sliver into:
(a) Individual fibres
(b) Different fibres 
(c)  Intangle fibres
(d) Mass fibres

The first turbine spinning machine was 
introduced in the year:
(a) 1960
(b) 1965
(c) 1968
(d) 1970

(xviii)

(xix)

(xx)

(xix)

OT5038
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